Quiz B: 7/20/16 Name €Y

Conventional is considering investing $11.25 million today in a new retail store. The new store will fall into the 15-
year MACRS class and will be built on land Conventional acquired a year ago for $1 million. This land could be
sold today for $1.5 million. Conventional expects revenues a year from today to equal $150 million. In the following
years, sales are expected to grow by 4% per year. Conventional estimates that variable costs be the same as at
existing stores and thus will equal 70% of revenues that and fixed costs associated with the store will equal $26.5
million per year. The $30 million per year spend operating Conventional’s corporate headquarters will not change as
a result of the new store, but 20% of this cost will be allocated to the new store. Net working capital (in millions)
associated with the store will be as follows:

Year 0 1 2 3 4 5

Cash 000 900 939 989 986 1059

X Acct. Receive 000 488 487 527 556 551

Y- Inventory 0.00 1913 1994 20.76 2172 2205

~ Acct. Payable 0.00 1875 1889 1894 2018 21.82
1046 bbb

Set up the calculations needed to determine the new store’s unlevered net income and free cash flow today and
four years from today if Conventional’s marginal tax rate equals 35%.
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